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One who comes upon his daughter -yna by Ixan

Overview

The 73wn enumerates 12 %Y X277, among those who do not receive 01p on account of
11 12772 7% 0P (since they are all 7"2 nn» 2 nn). The issue here is how is it
possible that there should be 01p at all by 102 ¥ X3, since the 01p of a 77v1 belongs
to the father! One possible explanation is that she was 7wan1 70X N1 before he was
%Y X3, in which case the 01p belongs to her (according to X,n% 1227 ¥"1). Our NMooIN
offers another option.
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According to how X955 17 has established our ;72w here, in 9910 32 P99 that we are
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It is necessary to establish this case, where he was 79%¥ X2 before she was a na12,
and the 772 772V was after she was a nax13, as I explained previously.

Summary
If the daughter was a 7imo7, the 172 77V was after she became a N2,

Thinking it over

Is there any difference, regarding 102 ¥ 827, whether he is exempt from paying her
the 01p, because technically there is no 01p (since 7°aR? 7701, or she is Pmn, etc.), or
that he is exempt from paying on account of 7°°n 72772 7°% 2°p?

U This nooin references the 71wn on 2,75.

2 The daughter was seduced by the father. [x95 21 there found it necessary to establish our 7wn in the case of a inan
in order to resolve a certain difficulty there, w"»v.] This presents a difficulty, since we are assuming that it is a situation
of nwan 707X (see ‘Overview’), so she receives no 01p, for generally a non (who was 11¥72 79v21) is i the D1p.
It is only when :3°28" 17017 that she cannot be m» but if it is 72¥¥2 1701p, she is oM. The question remains, how is it
possible the whole idea of 01p by 12 7y 827 if she is a moA.

3 The "n° was when she was a 77v3; however. she took her father to 7", to collect the 03P when she was a n1313, in
which case the rule is that since the 172 77v77 was when she is a n7312 the 01p belongs to her (see 2,81 1227). We cannot
argue that she was 5mn, for since the "1’ took place before 73anw, the 01p belongs to her father and she cannot be
5mn. Now that 71732 she can claim the 03p from her father. We need not establish it in a case of 7w2an1 70X,

4w 5y "7 X,00.
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